## Quiz!

## Fully factor each of the following.

a) 
$$5a^3 - 15a^6 + 20a^2$$
  
=  $5a^2(a - 3a^4 + 4)$ 

b)  $16x^{3}y + 12xy - 18xy^{2}$ =  $2\chi y (8\chi^{2} + 6 - 9y)$  <u>4.3 Common Factoring - Day 2</u>

**Binomial Common Factors** 

binomial common factor  

$$4(w + 1) + 5y(w + 1) \qquad 4(0) + 5y(0) = (w+1)(4+5y) = 0 (4+5y)$$

a) 2y(a - 1) - 3x(a - 1)  
= 
$$(\alpha - 1)(2y - 3x)$$

b) 
$$4a(x - y) - 3b(-y + x)$$
  
=  $4a(\gamma - y) - 3b(x - y)$   
=  $(x - y)(4a - 3b)$ 

c) 4a(x - y) - 3b(y - x)

## Factor by Grouping $\bigstar$ group terms that have a common factor lpha factor each group to try and get a binomial common factor ac+bc+ad+bd= c(a+b)+d(a+b)= (a+b)(c+d) $\begin{cases} = ac+ad+bc+bd$ = a(c+d)+b(c+d) $= (c+d)(a+b) \end{cases}$ Ex. 2 Factor by Grouping a) xy + 12 + 4x + 3yb) 5m<sup>2</sup>t-10m<sup>2</sup>+t<sup>2</sup>-2t $= \chi y + 4\chi + 3y + 12 = 5m^{2}(t-2) + t(t-2)$ = $\chi(y+4) + 3(y+4) = (t-2)(5m^{2}+t)$ = (y+4)(x+3)c) 6x2y-12x-xy+2 $= 6x^{2}y - xy + 2 - 12x$ $= \chi y (6\chi - 1) + 2(1 - 6\chi)$ $\sum_{k=-xy(-bx+1)+2(1-6x)} \sum_{k=xy(6x-1)-2(1+6x)} \sum_{k=-xy+2} \sum_{k=-xy} \sum_{$ OR

## FBUHL Page 234 #5, 6, 11, 13, 14, 15ab

